1S&ERT
WETZER  1=30. 0m

F &

S=1: 500

ZEI A=77.0m2

25 EFR®
RTZEE 1L=3 Om

AEI A=3. 8m2

M (8Ex) A=120. 0m2

A

o)

FEET N1 =

\TI BER) A=7.5m2 {RERT N1 =

25 EQ
METIER L=4. Om

ZAEIL A=5. Om2

VI (BER) A=10.0m2 {fE2T N1 =

25 EAQ
TR

L=2. Om

MCT (GER) A5 0m? {=BT N1 =t

SIREE EFtsEEER( BB

TH 2 | e ss e T
WTIB | (T TR M

m 4 FEX( 1- 25&EFD

® R == EES 1
EREr | Urh EEED EREIER

AZETI A=2.5m2




i

~—/

e EX]

T QB
- TERARKZER L=25. OmW=3. Om
S 15 &Fh s py=yeea
1 TERARKZER L=33.0mW=3.0m jc-gl_lj:d)’)l NeT1£5410£5+13-3448
ABHL A=10m3 AE+DS5T N=38% KET NIzt
\\\ \
A

SIREE EFtsEEER( BB
T B R A AR A X S Lo

FET TR HN

A
-F1 5 T cf\" «(Q/
57/
PR /
B / IE%
/
. / HETISRAT
s

/ & %

{RE% TN RERER( 1- 25 &R

W R

B4 XIS

FEM AR EREAIER




NoO+15. Om
£ #l 5. 26
K 1E 1.01
® +t 5.15
#H R 0. 41
, SEEEERZT | 2.58
\ Q\.' Lo R T 2.58
\ 2
\ R &
\ 30K ?
\ -------- =
\ g
\ R
\ B
R )
NoO+11. Om
£ #l 5.08
K 1R 1.01
® + 5.48
& 2 R 0.41
AN NSNS P 4T | 258
\ 'o;%’ RET 2.58
\ KKK 5
\
\ ;x;x;i; ;x -
\ ;"": ;":'.q
\ S [alin] ivd
(. d
NoO
£ #l 5.16
K 1E 1.01
® T 5. 63
B R 0. 40
SEEEERZT | 2.58
Re T 2.58
\ B
N J

£ Al 5.33
1z 1.00
B * 4.72
No0+30. Om m = 020
SEEERZT | 258
R T 2.58
oo - v
e, &/
NoO+19. Om
iE #l 5.33
K ¥E 1.00
® + 4.72
#H R 0. 40
SEEEERZT | 2.58
SR T 2.58
S / .
> 9.959.959.9 9.4] /
T®E4% SHREE RS EEESEE( BE®

T B R A AR A X S Lo

TSR | {FE™m TR HN
£ ( 15EFD
W R |BEw XIS 3

P AR EEEAIER




25 ER®
No. 0
Con#fizk
No.0+1.5
‘ Con#fizk
No. 0+3.0

ConffiZE

2.000

2 #il 2.35
K Y& 1.00
® * 1.92
B R 0. 40
p T | 1.25
Re T 1.25
2 Hl 2.81
K B 1.00
& T 2.62
B R 0.40
SEEEERZT | 1.25
R T 1.25
2 Hil 3.23
K U8 0.99
® T 2.47
#H R 0.39
; T | 1.25
SR T 1.25

H

S=1:100
25 B
No. 0

No. 0+2. 0

X
3

2. 600

4

(XA
RIS

X
9%

H

2 #l 2.68
K ¥z 0.99
® * 1.55
pi: = 0.39
p T | 1.25
Re T 1.25

No. 0+4.0

2.600

H

Hll 1.09

I& 1.00

B S

* 1. 98

BT | 1.25

R T 1.25

2. 600

H=

2 Al 0. 49

R ¥E 0.99

B T 1.57

H R 0.39

SEMEERZT | 1.25

R T 1.25

=

SIREE EFtsEEER( BB
T B R A AR A X S Lo

TSR

FET TR HN

X m &

a2 5EFED

B4 XIS 4

P AR EEEAIER




25 B
No. 0~ +2.0

Con&hizk

H=3. 300

£ Hl 0.32
K U2 0.99
B® * 2.75
R 0.39
SETEEER: 1.25
BReT 1.25

SIREE EFtsEEER( BB

TH 2 | e ss e T
WTIB | (T TR M

& % ( 255

® R == EES 5
EREr | Urh EEED EREIER




B B X

2. 58m

NE

NoO

S=1: 100
S &
[ [ [
| BE=T A77m | |
g & & &
Te] Te] [T'p] [Te]
) j ; ;
\ \ \
| | |
\ \ \
| | |
| | |
\ \ \
| | |
£ £ £ £
o o o o
= Ce o 3
& & & 5
= = = =
My FIT A=30.0x0.5x8F%=120. 0m2
25 EHD 25 EARQ VA=A E)
B2 T A3.8m BEZT A5 0m BE2T A2 5m
1 R I Es 3; 34 &
|
|
|
|
€ c Ty | TIREE ERStSEERER REM
5 S 5 = & A S B AT AT
T P N < N METISAR | 4R AR HiA
Q & q & = & & & i ks
(=} = I=] [=] [=]
= = = = = = = = m % FERIX( 1- 2B
MWS<w FIT A=3.0x0.5x5F%=7.5m2 MZ<w FIT A=4.0x0.5%x5%=10. 0m2 W<y FIT A=2.0x0.5%5%=50m2
w R | RE B 6
T|eEs | (FETh BN EESAIER




HEAT

A

..¢§><°/

WY T 2

SeERALE SRS L ThRIIIRDERZE

yA N =

i

355

IR RALERA
BFEH L
TE% SHABEE s EEREE( BE®
T BRI R B EmAS R SR T
FETISRr | (RS TREE  #hiA
m % IAX
fia R = BT = 7
BEEA T RSP EREEIER




FER  S=1: 500

mIZER L=12.0m
MZ I (8E)  A=48.0m2
ConZEit T A=34.0m2
EEI A=19. Om2
%L N=1=

SHBHFE FEFrmEEEER( BB

TER | nnanEBiEEENETE

TSR | FEH TRER  HR

o4& |TERCSEH)

W R |EF KEES 8

FEER |FET EERED EREEIER




IEAEEEXE S=1: 500 IRESAE=E[]  S=1: 100

AETOS T

RELDS5IT N=18%

TERAREER L=25.0m W=3.0m

SHBHFE FEFrmEEEER( BB

TER | nnanEBiEEENETE

TSR | FEH TRER  HR

m& | RERGCSER)

W R |EF KEES 9

FEER |FET EERED EREEIER




HHRIER
2.800m

+12. 0(E. P.)

EERIE S
2.800m

ERIES
2.800m

3. 800m

H=:

4. 200m

H=.

4. 200m

H=

v,

S=1: 100

2 Al 1

R ¥E 1.25
® x 2.90
# R 0. 65
SREERZT | 1.40
RET 1.40
B Al 2.15
R ¥E 1.25
X 1.25
B R 0. 65
SREERZT | 1.40
ST 1.40
2 Hl 4.47
R ¥E 1.25
® x 3.80
# R 0. 65
REERT | 1.90
RET 1.90

ConEfiZEHiEIERE t=10cm

12, 000

2,800

Il

1__ o _ _ _ 1

TER | nnanEBiEEENETE

SHBHFE FEFrmEEEER( BB

TSR | FEH TRER  HR

& | TR SRR

W R |EF KEES

FEER |FET EERED EREEIER




kT A=19.0m2 —

: § :
o i v
: £

o =) :
. . AN
3 © i
¥ +

MIITYy I A=12.0x0.5x 8E&=48.0m 2

RERTR S=1: 100

ZERT

MY T

HaL

vaaaliysalai]

THSEE HEBAEEREE (BREH

TER | nn AR BAEEENETE
WIS |t TR bR

Ha | REE - TEEGEE

® R |ER EEES i

1P EERAR EEAIER




T &
S=1:500

EZETI A=32. 0m2

T (8F%) A=48.0m2 1

IER L[=12.0m

Hy

T N=1.0z

Ju
5574

£ 2 SIBEFE FEFOnEEEER( BRE®
TEEFARERAERENRISE

I
BTISERT | REM T
m4& | TER (45




{ &% F X IR 5% 12 % R
S=1:100
TERRER L=27.0m W=3.0m
— RELTDS5T N=16%
\ M \ 4
\ NS
AN A
\\ < XE+DS T

SIBEFE FEFOnEEEER( BRE®

TER | s s EEENETE

BETERT | FEm TR A

m&  |RER SERD

W R xR XEES 13

FEER |FET EERED EREEIER




i Ii=ﬁs>1<

2..000m

No.0+12.0 (E.P.) ﬁ

: 100

No. 0+6. 0 2 000m

L]

2.000m
No. 0

& Al 6.45
K ¥E 1.07
® T 8.89
R 0.47
pi T | 2.66
BT 2.66
& Al 8.40
K = 1.03
® t 2.90
#H R 0.43
pi T | 2.66
sRe T 2.66
2 #l 8.77
K ¥E 1.07
B * 9.96
R 0.47
SEEEERS LT | 2. 66
R T 2.66

TISEE HEBSEEREF (BEH

THEE | S anpasustansnils
T | FEd FITR

A | SE

® R =R EEES 14
BREE | AT RIS EREAIER




WRHHRALEF

A

S=1: 100

=2 66m

ZI|T A=32.0m?

£ I

< |

) 1

=2 66m

No. O

+12. Om

MYy R A=12.0x0.5x8E¥=48. 0m2

SIBEFE FEFOnEEEER( BRE®

THEE | S anpaustansniIE
T | FEd FITR

e |BEE- THE (SH

® R =R EEES 15
BREE | AT RIS EREAIER




L ) ) T

Co#&It=10,B2It=10

2 TMIFE BEHEHERBER (
i AL A B A T A R RS

X\ /" /.

— )




R s=1:100

No. No.0+12.9
2,7 S

N2
R 0.1
W W 03 RN pe & 1 0.9
o ~ 3] 0.8 S5 2 E 06
| 5 S 05 | R s + 11
£+ 2.2 B T 05
Eramit | 13 R .t T 4
wE T =
3,2
No.0+4.0- No.0+22.2
2,9
> N —_—
: : 3
s mm 0.3 21
r ? & 08 . o8
R 3 0.2 B > *
K B + 25 s S e
RIS prEEHE | 14 B8 e
e W& T = sl
R
3,2
No.0+4.0+ No.0+23.0 —
23 %
5
<
m 0.3
@ 3] 0.8 -
o (3 0.2 o
B + 14
BIEEHT | 05
el = R
L0090 0.0.0,

TMIFE BEHLSEREER (XA

TF 2| st E RS RS

IHGH | FET TRE R

HEmAH | #HER (SSER)

17

R B= ‘@E@%

BREBL | FHT REEM ERANER




BB 5=1:100

NI

\&n

L[

49
»‘m‘sm.axa.num
T
— q| — | ldl
- G Sl
- [ —
|
e ,_;;_L%%j: g
[\ Q d—————”L——ﬂﬁ—if
| " | L | —
| L~——_~—i———-~—L—~—__- 10l
_ mEeR
12,9
- — K&k
avsgly RS T
23,0
: - 6,5
C°1%20,$E!EI(HEH1;=5)I8!I1:=10,Co!§1=/1[7 ¥ ¥ MIt=20, AR EL(MRHE, BETt=10,Com&t=10 |%ft:10’$!!EI(mmt:smo!gt:m
0
[41]

AN

I%E %

TMIFE BEHLSEREER (XA
AR AR B A T R R T

THEBH

pET TEE A

HE&H

BB (5SHm)

# R

18

B ‘@ﬁﬁ%

BEEL

PHT BB ERANR




